FITTING

4x4 ACCESSORIES

INSTRUCTION

PRODUCT : RECOVERY POINT

SUITE TO VEHICLE : MITSUBISHI TRITON 2015-2019,PAJERO SPORT 2016

PART LISTS

(2

:
L 30 1

Bush @30 x 33 , 11 Pcs.

8
= a

Bush M12 x 1.5 x 65, 8 Pcs.

Bracket, 1 Set. LR

(6)
D -l

Bolt M12 x 1.5x 90, 8 Pcs.

@)
D )l

Bolt M12 x 1.5 x 140, 2 Pcs.

Bolt M12x 1.5 x 30, 2 Pcs.

(9
o )y

Bolt M12x 1.5 x 80, 1 Pcs.

Washer M12 x5, 19 Pcs.

@

Nut M12 x 1.5, 3 Pcs.

12

EQ®

13
)

Bush @30 x 15 , 2 Pcs.

Bolt M8 x 1.25 x 30, 2 Pcs.




	Triton 2019 Layout1

